

ORIGINAL RESEARCH ARTICLE

Knowledge and perceptions of uterine fibroids: A descriptive cross-sectional survey among women of childbearing age in KwaZulu-Natal, South Africa

DOI: 10.29063/ajrh2025/v29i5.7

Amanda Dlamini¹, Celenkosini Thembelenkosini Nxumalo^{2,3*}, Nomakhosi Mpofana⁴, Michael Paulse⁵, Mokgadi Makgobole⁴ and Pavitra Pillay¹

Department of Biomedical and Clinical Technology, Faculty of Health Sciences, Durban University of Technology, Durban, 4000, South Africa¹; Research Development and Postgraduate Support, Office of the DVC Research and Innovation, University of the Western Cape, South Africa²; School of Nursing and Public Health, College of Health Sciences, University of KwaZulu-Natal³; Department of Somatology, Faculty of Health Sciences, Durban University of Technology, Durban, South Africa⁴; Cape Peninsula University of Technology, Faculty of Health and Wellness Sciences, Cape Town, 8000, South Africa⁵

*For Correspondence: Email: cnxumalo@uwc.ac.za

Abstract

Uterine fibroids are the leading cause of hysterectomies among women of childbearing age. This study aimed to elicit the knowledge and perceptions of childbearing women towards uterine fibroids. A quantitative, cross-sectional descriptive design was used and data were collected from a sample of 362 women of reproductive age residing in a selected township in KwaZulu-Natal, South Africa. Ethical approval to conduct the study was obtained from the Durban University of Technology's Institutional Research Ethics Committee (IREC – Ref No. BIREC 014/21). A pre-tested survey was conducted to collect data for this study. SPSS version 27 was used to analyze data and further employed descriptive statistics. Inferential statistics were also conducted to investigate relationships between important variables and respondents who self-reported being diagnosed with uterine fibroids. Most participants, 73.8% (n=267), had no awareness of uterine fibroids. Participants also demonstrated poor knowledge regarding the aetiology and symptoms of the condition. However, nearly half of the participants, 49.2% (n=178), perceived uterine fibroids to be of spiritual origin, citing evil spirits and witchcraft as the cause. The study findings suggest that women in the selected township lack accurate knowledge about uterine fibroids. Despite the limitations related to the use of a convenience sampling approach for data collection and the subsequently low levels of education observed among certain participants, the study findings provide useful baseline information to inform the development of tailored educational interventions for the condition. (*Afr J Reprod Health* 2025; 29 [5]: 74-87).

Keywords: comprehensive nursing; pregnancy; surgery; uterine myomectomy

Résumé

Les fibromes utérins sont la principale cause d'hystérectomie chez les femmes en âge de procréer. Cette étude visait à évaluer les connaissances et les perceptions des femmes enceintes à l'égard des fibromes utérins. Une étude quantitative, transversale et descriptive a été utilisée et les données ont été collectées auprès d'un échantillon de 362 femmes en âge de procréer résidant dans un township sélectionné du KwaZulu-Natal, en Afrique du Sud. L'approbation éthique de cette étude a été obtenue auprès du Comité d'éthique de la recherche institutionnelle de l'Université de technologie de Durban (IREC – Réf. BIREC 014/21). Une enquête pré-testée a été réalisée pour recueillir les données de cette étude. SPSS version 27 a été utilisé pour analyser les données et a utilisé des statistiques descriptives. Des statistiques inférentielles ont également été réalisées pour étudier les relations entre les variables importantes et les répondantes ayant déclaré avoir reçu un diagnostic de fibromes utérins. La plupart des participantes, soit 73,8 % (n = 267), n'avaient aucune connaissance des fibromes utérins. Les participantes ont également montré une méconnaissance de l'étiologie et des symptômes de la maladie. Cependant, près de la moitié d'entre elles, soit 49,2 % (n = 178), considéraient les fibromes utérins comme d'origine spirituelle, citant les mauvais esprits et la sorcellerie comme causes. Les résultats de l'étude suggèrent que les femmes du township sélectionné manquent de connaissances précises sur les fibromes utérins. Malgré les limites liées à l'utilisation d'un échantillonnage de convenance pour la collecte de données et au faible niveau d'éducation observé chez certaines participantes, les résultats de l'étude fournissent des informations de base utiles pour élaborer des interventions éducatives adaptées à cette maladie. (*Afr J Reprod Health* 2025; 29 [5]: 74-87).

Mots-clés: soins infirmiers complets ; grossesse; chirurgie; myomectomie utérine

Introduction

Uterine fibroids are benign, smooth muscle growths of the uterus that are the most common form of

pelvic tumours among women ¹. While the aetiology of fibroids remains relatively unknown, it is stated that the combination of hormonal and genetic factors are determinants of facilitative and

synergistic factors that are influential in their growth.²⁻⁴ Although fibroids are often benign, they possess a combination of smooth muscle and fibroblastic components with a substantial presence of fibrous extracellular matrix, which precipitates the pathogenic process.⁵ The location and size of fibroids in the uterus are important determinants of symptomatology and clinical manifestations.⁶ Nulliparity, race, obesity and familial history are common predisposing factors to clinically significant fibroids.^{2,7,8} The growth of uterine fibroids may be intramural, submucosal and subserosal.⁹ Uterine fibroids that are most common and often benign grow intramurally, while the submucosal fibroids are the least common and are often clinically significant.¹⁰

Epidemiological data on uterine fibroids suggest that uterine fibroids occur in more than 70% of women at the onset of menopause.^{11,12} Furthermore, research shows a higher incidence rate among Black women of African descent.^{2,13,14} The health outcomes and related complications owing to the occurrence of uterine fibroids are further exacerbated by socio-economic issues of level of education, employment and individual perceptual factors.¹⁵ The clinical symptoms of uterine fibroids vary, depending on the severity. It is estimated that just under 50% of cases are often asymptomatic,¹⁶ while the remaining cases often have symptoms ranging from mild to severe abdominal discomfort, acute pelvic pain, and abnormal uterine bleeding, with variable amounts of bleeding depending on the size and location of the fibroid.¹⁷ Additional clinical features include frequency of micturition, swelling of the abdomen and increased pelvic pressure.¹⁸ Uterine fibroids may also result in complications leading to infertility, miscarriages, premature labour and complications related to prolonged uterine bleeding.^{19,20} Pregnant women with uterine fibroids are also at higher risk of post-partum haemorrhage during labour and delivery.^{21,22}

While treatment of fibroids depends on the size, location and nature of clinical symptoms,²³⁻²⁵ the use of oral contraceptives has been proven to be effective in providing some degree of protection against the development of uterine fibroids.²⁶⁻²⁸ The success of treatment interventions for fibroids

and potential for reducing morbidity associated with the condition may be largely attributed to health-seeking behaviours, which are influenced by awareness, knowledge and perspectives on the condition. It is argued that the individual views on uterine fibroids can have a significant impact on how quickly women get treatment when the condition arises. Women thus require accurate, comprehensive and holistic information to improve their understanding and awareness on uterine fibroids.²⁹ This may in turn support women to seek the appropriate treatment timely manner, thereby reducing morbidity associated with the condition.

While research on knowledge, awareness and perceptions of women regarding uterine fibroids has been conducted globally,³⁰⁻³² there is a paucity of such data among women of reproductive age, particularly in sub-Saharan Africa, more specifically, in South Africa. Moreover, there is a dearth of context-specific research, meaning that contextual and evidence-informed education interventions related to fibroids remain suboptimal for women of reproductive age. Additionally, current literature suggests that while women may be aware of uterine fibroids, there is generally poor understanding and knowledge of its aetiology and pathophysiology.

The aim of this study was thus to assess the knowledge, attitudes and perceptions towards uterine fibroids among women of childbearing age in rural KwaZulu-Natal, South Africa, to facilitate contextual awareness regarding existing knowledge, attitudes and perceptions concerning uterine fibroids. These findings subsequently have implications for informing educational interventions to facilitate awareness regarding uterine fibroids. Ghant *et al* (2016)³¹ argue that there is a need for patient-centred and community-based interventions to improve women's knowledge regarding uterine fibroids so that relevant treatment options may be promoted. It is postulated that awareness may result in positive health-seeking behaviour related to the prevention and treatment of fibroids. This may subsequently have positive outcomes on quality of life and public health, because fibroids are the leading cause of high rates of total hysterectomies among childbearing women.³³

Methods

The study was located in a KwaZulu-Natal township in South Africa and used a quantitative, cross-sectional descriptive design to assess the knowledge, attitudes, and perceptions of childbearing women, aged 18 to 35, regarding uterine fibroids. Non-probability convenience sampling was used to recruit participants for the study. Three hundred and sixty-two ($N = 362$) childbearing women were enrolled in the study based on the sample size calculated using the G*Power software version 3.1.9.7.³⁴

This is in line with suggestions made by various statistical scholars: Cohen (1992) suggests that a priori sample size determination is necessary for sufficient power in chi-squared tests and statistical power analysis is essential to guarantee that studies can detect effects.³⁵ The non-centrality parameter affects these tests' power and needed sample size, reflecting the expected test statistic in the event of an alternative hypothesis.³⁶ Standard large-sample formulas can approximate power, sample size and the smallest detectable effect;³⁷ conventional effect size values and their corresponding sample sizes for achieving a power of 0.80 offer guidelines.³⁸ To prevent underpowered studies, effect size estimates from prior research should take uncertainty into account.³⁹ Considering all of this, G*Power yielded a minimal acceptable size of 32 to 55 for degrees of freedom, df , ranging from 1 to 6 respectively for a large effect size, $w = 0.50$, α err prob = 0.05, power ($1-\beta$) err prob = 0.80 which is substantially lower than what was finally sampled.

Childbearing women were recruited to participate in the study at community level through random selection, based on convenience sampling approaches applied at the primary researcher's discretion. This sampling approach might have thus contributed to potential biases affecting the generalizability of findings, as recruitment was limited to a single geographical area and based on the availability of consenting participants who were available at the location of data collection, which was determined by the researcher. A structured, pre-tested interviewer-administered questionnaire was used to collect data from participants. The structured questionnaire comprised questions to

elicit demographic details of participants such as age, level of education, occupation and marital status. Specific questions of knowledge and awareness related to signs, symptoms, risk factors and complications of uterine fibroids were also detailed in the questionnaire. The survey questionnaire was initially reviewed by a statistician and two experts in the field to ensure content validity. The experts individually rated the relevance of the questions in relation of the aim and objectives of the study using a five-point Likert scale (1 = strongly disagree to 5 = strongly agree). The content validity index (CVI) of each question was calculated to ascertain content validity. The experts were also asked to make recommendations for improving the questionnaire. The questionnaire was thereafter piloted on a convenience sample of childbearing women ($n=36$) located in a community close to the data collection site of the main study. The results of the pilot were not included when conducting the main study and there were subsequently no further changes made to the data collection instrument.

The data collected were entered into Microsoft Excel and analysed using Statistical Product and Service Solutions (SPSS), version 27. Initially, exploratory descriptive statistics were conducted to analyze the frequencies of various categories, behaviours, attitudes, and medical conditions among participants. This step provided a comprehensive overview of the distribution of variables in the dataset, allowing researchers to identify patterns and trends. Following the exploratory descriptive analysis, chi-squared tests were employed to look for connections between these factors and participants' self-reporting of a diagnosis of uterine fibroids. chi-squared tests are commonly used for analyzing categorical data and determining whether there is a significant association between variables.⁴⁰ They assess whether the observed frequencies in different categories deviate significantly from what would be expected by chance.⁴¹ In this study, chi-squared tests were chosen due to their ability to handle categorical data and their non-parametric nature, making them suitable for analyzing variables with non-normal distributions.^{42,43} The results of the chi-squared tests provided insights into the relationships between various factors and

participants' likelihood of self-reporting a diagnosis of uterine fibroids.

Chi-squared tests are commonly utilized, but it is vital to remember that they have limits, especially when sample sizes are small or the test's assumptions are broken.⁴⁴⁻⁴⁶ In instances where the expected frequencies are low, Fisher's exact test may be more appropriate as it provides more accurate results.⁴⁴⁻⁴⁶ Despite this, the initial exploratory descriptive statistics provided valuable context for the subsequent chi-squared analyses, enhancing the overall understanding of the relationships between variables in the study.

Ethical approval and considerations

The Institutional Research Ethics Committee at Durban University of Technology gave its approval to the study, which was carried out in conformity with the Declaration of Helsinki (BIREC 014/21). Prior to data collection, all participants provided verbal informed consent, and the study was carried out in accordance with all ethical research guidelines

Results

Participant demographics

The demographic details of the participants in the study on women of reproductive age in KwaZulu-Natal, South Africa, and their perceptions and knowledge about uterine fibroids are shown in Table 1.

Age

Three age groups of participants were identified: 18–25, 26–31, and 32–40 years old. Most of the participants fell within the age range of 18–25 years (62.7%), followed by 32–40 years (29.0%), and 26–31 years (8.3%).

Level of education

Participants' educational attainment varied, with the majority having tertiary education (75.7%). A smaller proportion had secondary education (19.1%), while a very small percentage had either primary education (1.7%) or could only read and

write (1.4%). A minority reported being illiterate (2.2%).

Marital status

There was variation in the participants' marital status; most of them were single. (70.2%). Married women made up (19.1%) of the sample, while smaller percentages were either widowed (6.4%) or divorced (4.4%).

Occupation

The majority of participants reported being unemployed (81.5%), while a smaller proportion were employed (18.5%). These demographic details shed light on the age, educational attainment, marital status, and employment status of the participant sample, all of which are essential for comprehending the target population and appropriately interpreting the research's conclusions.

Furthermore, the study explored associations between participant demographics, perceptions, lifestyles, as well as self-stated diagnosis of uterine fibroids were examined. It matters to note that associations do not necessarily imply causation but allow for future research exploration^{40,47-49} Table 2 displays the association between various categories of interest and participants' self-reported diagnosis of uterine fibroids, along with the chi-square statistics for each category. The analysis reflects the following:

Age group

There was a noteworthy correlation discovered between age group and self-reported diagnosis of uterine fibroids ($\chi^2 = 42.979$, $df = 2$, $p < .001$). Specifically, within the 26–31 age group, there were significantly more self-reported diagnoses compared to the other age groups.

Education level

Participants' education levels were classified as primary, secondary, or tertiary. The analysis revealed no substantial correlation between educational attainment and self-reported diagnosis of uterine fibroids ($\chi^2 = 0.254$, $df = 2$, $p = 0.881$).

Table 1: Participant demographics

Characteristics	Frequency (N)	Percentage (%)
Age		
18-25	227	62.7
26-31	30	8.3
32-40	105	29
Level of Education		
Illiterate	8	2.2
Primary School Education	6	1.7
Read and write	5	1.4
Secondary School Education	69	19.1
Tertiary Education	274	75.7
Marital status		
Divorced	16	4.4
Married	69	19.1
Single	254	70.2
Widowed	23	6.4
Occupation		
Unemployed	295	81.5
Employed	67	18.5
TOTAL	362	100

Table 2: Association of categories of interest and the participants' self-reported diagnosis

	Diagnosed			Chi-squared Statistics		
	No	Yes	Total	X ²	df	p-Value
Age Group						
18-25	204	3	207	42.979	2	< .001
26-31	26	2	28			
32-40	73	23	96			
Total	303	28	331			
Education Level						
Primary	15	2	17	0.254	2	0.881
Secondary	56	5	61			
Tertiary	232	21	253			
Total	303	28	331			
Employment Status						
Unemployed	255	16	271	12.605	1	< .001
Working	48	12	60			
Total	303	28	331			
Marital Status						
Single	227	4	231	53.667	3	< .001
Married	49	16	65			
Divorced	14	1	15			
Widowed	13	7	20			

Total	303	28	331			
Normal Menstrual Cycle						
No	284	10	294			
Yes	15	18	33	15.321	1	< .001
Total	299	28	327			
Heavy Periods						
No	202	5	207			
Yes	101	23	124	875.337	1	< .001
Total	303	28	331			
Children						
None	236	8	244			
One	45	4	49	110.93	3	< .001
Two - Three	18	3	21			
Four	4	13	17			
Total	303	28	331			
Gynae Visits						
Never	246	3	249			
Once	28	8	36	77.107	3	< .001
Twice	7	2	9			
More than two	22	15	37			
Total	303	28	331			
Reasons for Gynae Visits						
Abnormal uterine bleeding, Painful periods	85	7	92			
Fibroids & Cysts	2	3	5	82.77	6	< .001
Genital warts	1	0	1			
Infertility	10	5	15			
Pregnancy	2	0	2			
UTI	20	12	32			
None	180	0	180			
Total	300	27	327			
Heard About the UF						
No	243	2	245			
Yes	60	26	86	71.132	1	< .001
Total	303	28	331			
Requires Treatment						
Yes	11	0	11			
No	164	28	192	22.144	2	< .010
Uncertain	128	0	128			
Total	303	28	331			
Family History						
No	284	10	294			
Yes	15	18	33	146.331	2	< .001
Total	299	28	327			

Symptoms Score						
8 – 17	38	2	40	33.019	5	< .001
18 – 22	54	0	54			
23 – 27	75	0	75			
28 – 32	40	3	43			
33 – 37	21	3	24			
38 +	74	20	94			
Total	302	28	330			

Employment status

Participants were categorized as unemployed or working. Employment status showed a significant association with self-reported diagnosis of uterine fibroids ($\chi^2 = 12.605$, $df = 1$, $p < .001$). A higher proportion of working participants reported a diagnosis compared to unemployed participants.

Marital status

There were four categories for marital status: single, married, divorced, and widowed. A noteworthy correlation was discovered between marital status and self-reported diagnosis of uterine fibroids ($\chi^2 = 53.667$, $df = 3$, $p < .001$). In particular, compared to participants in other marital status categories, married participants were more likely to report a diagnosis, possibly implying a higher degree of health-seeking behaviour among these women as compared to other categories of marital status.

Normal menstrual cycle

Participants were asked about the regularity of their menstrual cycles. There was a strong correlation between having a normal menstrual cycle and self-reported diagnosis of uterine fibroids ($\chi^2 = 15.321$, $df = 1$, $p < .001$). Individuals who had a regular menstrual cycle had higher odds of reporting a diagnosis.

Heavy periods

The question of whether they had heavy periods was posed to the participants. A substantial correlation was seen between the self-reported diagnosis of uterine fibroids and heavy periods ($\chi^2 = 875.337$, $df = 1$, $p < .001$). Individuals who had

heavy periods had a much higher likelihood of reporting a diagnosis.

Children

The number of children participants was categorized as none, one, two to three, or four. An important correlation was found between the number of children and self-reported diagnosis of uterine fibroids ($\chi^2 = 110.930$, $df = 3$, $p < .001$). Participants with four children reported the highest proportion of diagnoses.

Gynaecological visits

Participants' frequency of gynaecological visits was categorized as never, once, twice, or more than twice. There was a strong correlation discovered between the frequency of gynaecological visits and self-reported diagnosis of uterine fibroids ($\chi^2 = 77.107$, $df = 3$, $p < .001$). Participants who visited a gynaecologist more than twice were more inclined to file a report for a diagnosis.

Reasons for gynaecological visits

Various reasons for gynaecological visits were explored. A noteworthy correlation was discovered between the reason for visits and self-reported diagnosis of uterine fibroids ($\chi^2 = 82.770$, $df = 6$, $p < .001$). Particularly, visits due to abnormal uterine bleeding and painful times were closely linked to reporting a diagnosis.

Awareness of uterine fibroids

A question concerning participants' knowledge of uterine fibroids was posed.

Table 3: Knowledge of uterine fibroids

Knowledge	Frequency	Percentage (%)
Awareness of uterine fibroids	237	65.5
<i>Valid knowledge about the causes of uterine fibroids:</i>		
(1) Hormonal Imbalances	(1) 24	(1) 6.6
(2) Lifestyle factors	(2) 30	(2) 8.3
(3) Hereditary factors	(3) 8	(3) 2.2
(4) Early menarche	(4) 15	(4) 4.1

Table 4: Perceptions of uterine fibroids

Perception	Frequency	Percentage (%)
Uterine fibroids affect females >10 years	90	24.9
Uterine fibroids affect females in any age group	30	8.3
Uterine fibroids require treatment interventions	200	55
Uterine fibroids require spiritual treatment	178	49.2
Uterine fibroids require medical treatment	31	8.6
Uterine fibroids require traditional and/or herbal treatment	153	42.3

Perceived need for treatment

If participants thought that uterine fibroids required treatment, that question was posed to them. Perceived treatment requirement and self-reported diagnosis were significantly correlated ($\chi^2 = 22.144$, $df = 2$, $p < .010$). Individuals who disclosed a diagnosis exhibited a higher propensity to consider treatment as necessary.

Family history

A question concerning uterine fibroids in the family was posed to the participants. A noteworthy correlation was discovered between self-reported diagnosis and family history ($\chi^2 = 146.331$, $df = 2$, $p < .001$). Individuals who had uterine fibroids in their family tree were more likely to report being diagnosed.

Symptoms score

Six groups of participants were created based on their symptom scores. A noteworthy correlation was seen between the self-reported diagnosis and the symptom score ($\chi^2 = 33.019$, $df = 5$, $p < .001$). Individuals who reported a diagnosis of uterine fibroids were more likely to have greater symptom levels. These findings highlight the importance of demographic factors, health behaviours, and symptomatology in the diagnosis and perception of

uterine fibroids among women of childbearing age in KwaZulu-Natal, South Africa.

Knowledge of uterine fibroids

To elicit participants' knowledge about uterine fibroids, open- and closed-ended questions were posed concerning awareness, causes, and definition of uterine fibroids. Table 3 shows that regarding awareness of uterine fibroids, most participants, 76% ($n=276$), indicated that they had never heard of uterine fibroids.

The statistical significance of this discovery was further supported by the findings of the follow-up binomial test, which demonstrated this trend. When asked about the causes of uterine fibroids, 65.5% ($n=237$) did not respond, while an additional 7.7% ($n=28$) provided an invalid response. The remaining participants provided valid responses, giving different responses to this question, as 6.6% ($n=24$) indicated that hormone abnormalities are the cause of uterine fibroids; 8.3% ($n=30$) cited lifestyle factors such as obesity, high stress levels and multiple sexual partners as a cause. A further 2.2% ($n=8$) cited hereditary factors, while 4.1% ($n=15$) stated that uterine fibroids result from the onset of early menarche. Another 0.8% ($n=3$) of the participants claimed that fibroids in the uterus are caused by evil spirits. To ascertain knowledge of uterine fibroids by definition, participants were

allowed to respond to an open-ended question, and the responses were divided into different subgroups. Only 14,9% of the participants (n=54) responded to the aforementioned question and defined uterine fibroids as a type of cancer.

Perceptions of uterine fibroids

To elicit responses of perceptions related to uterine fibroids, participants were questioned on the age range they believed to be typically impacted, the most appropriate or effective treatment modalities and, and perceptions regarding the origin of uterine fibroids.

Table 4 highlights participants' responses regarding the perceived age group that is normally affected by uterine fibroids, 24.9%(n=90) indicated that uterine fibroids occur in females of ten (10) years and older, whereas 8.3% (n=30) revealed that uterine fibroids affect any age group. The remaining participants, 62,7% (n=227), did not respond to this question.

Approximately 55% of participants (n = 200) felt that treatment for uterine fibroids was necessary, while 3.3% (n = 12) said that therapy was not necessary. Of the participants, 49.2% (n=178) indicated that spiritual treatment (prayer) is required to manage uterine fibroids, conversely, 42.3% (n=153) said that using herbal medicines was necessary to treat uterine fibroids. Merely 8.6% (n=31) of the participants thought that receiving medical attention was necessary.

Discussion

This study assessed the knowledge, attitudes and perceptions of childbearing women regarding uterine fibroids in KwaZulu-Natal, South Africa. The majority of study participants had never heard of uterine fibroids, according to the study's findings, suggesting that their knowledge was insufficient. This result is consistent with earlier research, which found that women, even those with somewhat acceptable levels of education, also had poor knowledge levels. There was a discernible lack of understanding of uterine fibroids because most participants said that these are cancerous growths and painful periods, while few participants displayed an awareness that these are non-cancerous. The reported misconceptions

corroborate the study conducted by Saghir, Kamran, Khalid, Sohail, and Naveed⁵⁰, which indicated that participants incorrectly define uterine fibroids. In this study, the majority of participants perceived the common age occurrence of uterine fibroids to be in the range of 10 years and older and in any age range, which was not the expected response. This finding contradicts many studies, including that of Borah, Yao, Laughlin-Tommaso, Heien and Stewart⁵¹, which indicated the common age occurrence as 18-54. However, Gao and Wang⁵² suggested that the common age occurrence is over 35 years.

Although the aetiology of uterine fibroids remained elusive, there was an indication of knowledge of the predisposing factors to uterine fibroids.⁵³ Most of the individuals involved showed a correct knowledge of the predisposing factors, which included stress, obesity, heredity, early menarche, caffeine, smoking and hormones. This aligns with the research conducted by.⁵⁴⁻⁵⁶ Some participants stated that the cause of uterine fibroids is by having multiple partners, although a study conducted by Azzahra, Gondodiputro and Amarullah⁵⁷ proved that there is no connection between uterine fibroids and this component. It was also observed that individuals claimed demonic spirits are the source of uterine fibroids. This supports the conclusions of the research conducted by Akpenpuun *et al.* (2019).⁵⁸ The reported misperceptions on the aetiology of uterine fibroids as reported by certain participants, implies that these women might not seek healthcare when experiencing symptoms associated with the condition. This thus necessitates tailored education programs to address myths about the origin of uterine fibroids to prevent morbidity associated with the condition.

While some individuals stated that uterine fibroids do not require treatment, the majority of people responded that they do. Similar results were found in Ciebiera, Ali's⁵⁹ investigation as well. Approximately two-fifths (2/5) of the respondents said that uterine fibroids are a spiritual problem and that prayer is used in treating this disease. The study conducted by Wu, Shao, Zhu, Huang, Wei, Zhang, Hu and Zhong⁶⁰ also indicated similar findings. However, these findings contradict the findings of Arisukwu, Nwogu and Asamu⁶¹ in which celibate

women, despite their spiritual lifestyle, did not embrace praying and fasting as options for fibroid prevention. Two-fifths (2/5) of the participants said that treating uterine fibroids using herbal medicine is necessary. This is in line with the findings of Arisukwu, Nwogu,⁶¹ who noted that women continue to choose to treat themselves with native herbs irrespective of their educational attainment. According to the remaining one-fifth (1/5) of participants, medical treatment is the best option for uterine fibroids, which is consistent with Millien and Manzi's findings.⁶²

A study conducted by Ikechebelu, Okpala, Eleje, Nwachukwu, Nwajiaku and Nnoruka⁶³ indicated that women with uterine fibroids frequently experience multiple gynaecological pain symptoms and bleeding symptoms, compared to women with no uterine fibroids. Riggan, Stewart, Balls-Berry, Venable and Allyse⁶⁴ stated that most women lack knowledge of uterine fibroids symptoms. The strong correlation across the symptoms suggests that all of the symptoms are likely to be experienced by participants. These results align with those found in the investigation carried out by Tojjeva, Khalimova and Zufarova⁵⁵ and that of Singh, Shinde and Shinde⁶⁵

It was observed during the analysis that most of the individuals in this study reported having significant bleeding during menstrual periods. This is an important finding that demonstrates the need for tailored education programs to include information on the symptoms of uterine fibroids, particularly highlighting significant menstrual bleeding and its associated complications. This may improve health-seeking behaviours which has the potential to improve women's reproductive health. A study conducted by Naz, Memon, Bai, Habib and Maheshwari⁶⁶ indicated that women with uterine fibroids are two (2) to three (3) times more likely than those without to endure severe bleeding during their menstrual cycles. These findings corroborate the study conducted by Fuldeore and Soliman¹⁸ Anaemia, which was moderate among the individuals and may be the result of excessive menstrual bleeding. As a result, heavy menstrual bleeding is one of the predicted hallmark symptoms of uterine fibroids.⁶⁴ The majority of study participants reported experiencing blood clots passing during their menstrual cycles. This aligns

with the study conducted by Swain, Yadav, Kumari, Rani, Rongmei and Khurana⁶⁷ where blood clots were reported by women with uterine fibroids.

These findings suggest an association between blood clot passing and uterine fibroids, which is supported by the study of Salas, López, Reyes, Évora, de Oca, Báez, Delgado and Almeida⁶⁸

Most research participants reported fluctuation in the duration of menstrual periods compared to previous cycles and is connected to uterine fibroids. This observation—that women with uterine fibroids had fluctuating menstrual periods in comparison to prior cycles—is supported by numerous research.^{69,70} Most of the individuals involved indicated that they experienced fluctuation in the length of monthly cycles compared to previous cycles which is associated with uterine fibroids. This corroborates the study conducted by Tayebi, Izaddost and Akbarzadeh⁷¹ which also observed fluctuation in the length of monthly cycles compared to previous cycles in uterine fibroids-afflicted females. Of the participants, over two-thirds (2/3) said they have encountered pressure in the pelvic area. This could be the reason why most of participants reported sexual dyspareunia (pain during sexual intercourse) since this is an issue brought on by pressure in the pelvic region.⁷² These results corroborate what Xie *et al.* (2020)⁷³ found, which was that women with uterine fibroids reported pelvic pressure.

The results of this study suggest that the majority of individuals had issues with their urination. This implies that uterine fibroids might be the source of these issues. Similar results were also shown in the research by Laughlin-Tommaso, Lu,⁷⁴ where participants reported frequent urinating. One symptom linked to uterine fibroids is weariness, which was mentioned by the participants. Some of the individuals reported emotional issues, which might potentially be linked to fatigue.⁷⁵ These results support the observations made in the study conducted by Harmon.⁷⁶ Infertility was reported by a few participants in this study. It is believed that fibroids can result in infertility due to their location and size.⁷⁷ Numerous studies have suggested that nulliparous women are more likely to develop uterine fibroids;^{57,78}

nonetheless, one research by Saghir, Kamran, Khalid, Sohail and Naveed⁵⁰ that multiparous women also experience uterine fibroids due to early pregnancy. A few participants reported abortion as a problem, which is suggestive that this problem might be caused by uterine fibroids. Tran, Al Naber, Tambor and Myers⁷⁹ suggested that uterine fibroids may be a cause of experience spontaneous abortion according to the size and location of the fibroids. These results support the observations made in the study conducted by Fortin, Flyckt and Falcone (2018).⁸⁰

Study limitations

The choice of a convenience sampling approach adopted for this study influenced the reliability of data in terms of the demographic characteristics of participants who were included. Moreover, the design only included questionnaire data on the knowledge and perceptions of uterine fibroids, which could not be confirmed with patient medical records, as the study only included self-reported data on participants' knowledge and perceptions regarding uterine fibroids. This thus poses limitations to the study in terms of face validity. Furthermore, the study only included women who were of reproductive age and excluded the opinions of medical professionals who could be in charge of treating or managing uterine fibroids. Additionally, the study ignored the availability of medical services for women at risk to approach should they experience symptoms of complications related to uterine fibroids. A significant proportion of women had low levels of education and had never heard of the condition and thus could not respond appropriately to all questions. Nonetheless, these findings provide baseline empirical data on the state of knowledge, awareness and perceptions on Uterine Fibroids among a population of South African women of reproductive age residing in a low to middle-income context. The study findings have implications for educational interventions around the prevention and treatment of this condition.

Conclusion

This research sought to determine the knowledge and perceptions of women of reproductive age regarding uterine fibroids in KwaZulu-Natal, South Africa, to provide contextual awareness regarding existing knowledge and perceptions on this subject matter. The findings suggest that women of 18-40 years old in this study lack knowledge of uterine fibroids, hence they live chronically with symptoms, without seeking help. It appears that limited knowledge of uterine fibroids and normal menstruation can result in a skewed perception of what constitutes normality concerning uterine bleeding. The findings imply that further studies to investigate individualised and community-based education interventions related to uterine fibroids are necessary to promote self-preventive interventions, together with health-seeking behaviours among women. While there seems to be a position of more profound focus on other female health issues, such as cervical cancer and breast cancer, knowledge and awareness of uterine fibroids among communities at risk are also needed as this could help alleviate the related complications among reproductive-age women in KwaZulu-Natal. In this regard, more research is required to provide greater insights on the precise knowledge and awareness levels on uterine fibroids among women of reproductive age from varying socio-demographic contexts. Tailored messaging to support positive health-seeking behaviours should be based on these research findings and must address misconceptions about the aetiology of the condition and empower childbearing women to identify common symptoms so that they seek healthcare timely to prevent morbidity.

Funding

The research reported in this publication was supported by the South African Medical Research Council (SAMRC) under a Self-Initiated Research Grant.

The author(s)' opinions and viewpoints are their own, and they may not necessarily reflect the official stance of the SA MRC.

Data availability

Data are available upon request from the first author due to privacy concerns.

Contribution of authors

Amanda Dlamini and Pavitra Pillay contributed to the design and implementation of the research and manuscript writing. Nomakhosi Mpofana and Michael Paulse assisted with data analysis and writing of the results section of the manuscript. Mokgadi Mokgaboale and Celenkosini Nxumalo contributed to writing the discussion section of the manuscript and reviewing the final draft. All authors reviewed, commented on, and approved the final version of the manuscript and are equally accountable for all aspects of the work.

References

1. Bulun SE. Uterine fibroids. *New England Journal of Medicine*. 2013;369(14):1344-1355.
2. Okolo S. Incidence, aetiology and epidemiology of uterine fibroids. *Best practice & research Clinical obstetrics & gynaecology*. 2008;22(4):571-588.
3. Quinn M. Uterine innervation in fibroids: a qualitative study. *Journal of Obstetrics and Gynaecology*. 2007;27(5):489-492.
4. Viner AC and Menezes MQ. An Overview of the Aetiology, Epidemiology, Symptomatology and Management of Uterine Fibroids. *Current Obstetrics and Gynecology Reports*. 2016;5(2):65-72.
5. Stewart EA, Laughlin-Tommaso SK, Catherino WH, Lalitkumar S, Gupta D and Vollenhoven B. Uterine fibroids. *Nature Reviews Disease Primers*. 2016/06/23 2016;2(1):16043. doi:10.1038/nrdp.2016.43
6. Giuliani E, As-Sanie S and Marsh EE. Epidemiology and management of uterine fibroids. *International Journal of Gynecology & Obstetrics*. 2020;149(1):3-9.
7. Flake GP, Andersen J and Dixon D. Etiology and pathogenesis of uterine leiomyomas: a review. *Environmental health perspectives*. 2003;111(8):1037-1054.
8. Morhason-Bello IO and Adebamowo CA. Epidemiology of uterine fibroid in black African women: a systematic scoping review. *BMJ open*. 2022;12(8):e052053.
9. Stewart EA. Uterine fibroids. *The Lancet*. 2001;357(9252):293-298.
10. Gupta S, Jose J and Manyonda I. Clinical presentation of fibroids. *Best practice & research Clinical obstetrics & gynaecology*. 2008;22(4):615-626.
11. Stewart E, Cookson C, Gandolfo R and Schulze-Rath R. Epidemiology of uterine fibroids: a systematic review. *BJOG: An International Journal of Obstetrics & Gynaecology*. 2017;124(10):1501-1512. doi:https://doi.org/10.1111/1471-0528.14640
12. Sanei-Moghaddam A, Kang C, Edwards RP, Lounder PJ, Ismael N, Goughnour SL, Mannsuria SM, Comerci JT and Linkov F. Racial and socioeconomic disparities in hysterectomy route for benign conditions. *Journal of racial and ethnic health disparities*. 2018;5(4):758-765.
13. Stewart EA, Cookson C, Gandolfo RA and Schulze-Rath R. Epidemiology of uterine fibroids: a systematic review. *BJOG: An International Journal of Obstetrics & Gynaecology*. 2017;124(10):1501-1512.
14. Giuliani E, As-Sanie S and Marsh EE. Epidemiology and management of uterine fibroids. *International Journal of Gynecology & Obstetrics*. 2020;149(1):3-9. doi:https://doi.org/10.1002/ijgo.13102
15. Eltoukhi HM, Modi MN, Weston M, Armstrong AY and Stewart EA. The health disparities of uterine fibroid tumors for African American women: a public health issue. *American journal of obstetrics and gynecology*. 2014;210(3):194-199.
16. Divakar H. Asymptomatic uterine fibroids. *Best Practice & Research Clinical Obstetrics & Gynaecology*. 2008/08/01/ 2008;22(4):643-654. doi:https://doi.org/10.1016/j.bpobgyn.2008.01.007
17. Ekine AA, Lawani LO, Iyoke CA, Jeremiah I and Ibrahim IA. Review of the clinical presentation of uterine fibroid and the effect of therapeutic intervention on fertility. *Am J Clin Med Res*. 2015;3(1):9-13.
18. Fuldeore MJ and Soliman AM. Patient-reported prevalence and symptomatic burden of uterine fibroids among women in the United States: findings from a cross-sectional survey analysis. *Int J Womens Health*. 2017;9:403-411. doi:10.2147/IJWH.S133212
19. Stewart EA. Uterine fibroids. *New England Journal of Medicine*. 2015;372(17):1646-1655.
20. Purohit P and Vigneswaran K. Fibroids and Infertility. *Current Obstetrics and Gynecology Reports*. 2016/06/01 2016;5(2):81-88. doi:10.1007/s13669-016-0162-2
21. Abam DS and Kasso T. Uterine fibroids and pregnancy: A review of the challenges. *Obstetrics*. 2017;
22. Delli Carpini G, Morini S, Papiccio M, Serri M, Damiani V, Grelloni C and Ciavattini L A. The association between childbirth, breastfeeding, and uterine fibroids: an observational study. *Scientific Reports*. 2019;9(1):1-8.
23. Ezeama C, Ikechebelu J, Obiechina N and Ezeama N. Clinical Presentation of Uterine Fibroids in Nnewi, Nigeria: A 5. year Review. *Annals of medical and*

- health sciences research. 2012;2(2):114-118.
24. Lim WH, Cohen SC and Lamaro VP. Intra-abdominal haemorrhage from uterine fibroids: a systematic review of the literature. *BMC surgery*. 2020;20(1):1-7.
 25. Farquhar C, Arroll B, Ekeroma A, Fentiman G, Lethabi A, Rademaker L, Roberts H, Sadler L and Strid J. An evidence-based guideline for the management of uterine fibroids. *Australian and New Zealand Journal of Obstetrics and Gynaecology*. 2001;41(2):125-144.
 26. Ross RK, Pike MC, Vessey MP, Bull D, Yeates D and Casagrande JT. Risk factors for uterine fibroids: reduced risk associated with oral contraceptives. *Br Med J (Clin Res Ed)*. 1986;293(6543):359-362.
 27. Fraser IS and Kovacs GT. The efficacy of non-contraceptive uses for hormonal contraceptives. *Medical journal of Australia*. 2003;178(12):621-624.
 28. Jones RK. *Beyond birth control: the overlooked benefits of oral contraceptive pills*. Alan Guttmacher Institute New York, NY; 2011.
 29. Marsh EE, Al-Hendy A, Kappus D, Galitsky A, Stewart EA and Kerolous M. Burden, prevalence, and treatment of uterine fibroids: a survey of US women. *Journal of women's health*. 2018;27(11):1359-1367.
 30. Mara M and Kubinova K. Embolization of uterine fibroids from the point of view of the gynecologist: pros and cons. *Int J Womens Health*. 2014;6:623.
 31. Ghant MS, Sengoba KS, Vogelzang R, Lawson AK and Marsh EE. An altered perception of normal: understanding causes for treatment delay in women with symptomatic uterine fibroids. *Journal of Women's Health*. 2016;25(8):846-852.
 32. Nicholls C, Glover L and Pistrang N. The illness experiences of women with fibroids: an exploratory qualitative study. *Journal of Psychosomatic Obstetrics & Gynecology*. 2004;25(3-4):295-304.
 33. Stewart EA and Nowak RA. Uterine fibroids: hiding in plain sight. *Physiology*. 2022;37(1):16-27.
 34. Faul F, Erdfelder E, Lang A-G and Buchner A. G* Power 3: A flexible statistical power analysis program for the social, behavioral, and biomedical sciences. *Behavior research methods*. 2007;39(2):175-191.
 35. Cohen J. A power primer. 2016;
 36. Morita S, Thall PF and Müller P. Determining the effective sample size of a parametric prior. *Biometrics*. 2008;64(2):595-602.
 37. Gillett R. Sample size determination in a chi-squared test given information from an earlier study. *Journal of Educational and Behavioral Statistics*. 1996;21(3):230-246.
 38. Greenland S. Power, sample size and smallest detectable effect determination for multivariate studies. *Statistics in Medicine*. 1985;4(2):117-127.
 39. Lachin JM. Power and sample size evaluation for the Cochran–Mantel–Haenszel mean score (Wilcoxon rank sum) test and the Cochran–Armitage test for trend. *Statistics in medicine*. 2011;30(25):3057-3066.
 40. Rana R and Singhal R. Chi-square test and its application in hypothesis testing. *Journal of Primary Care Specialties*. 2015;1(1):69-71.
 41. Franke TM, Ho T and Christie CA. The chi-square test: Often used and more often misinterpreted. *American journal of evaluation*. 2012;33(3):448-458.
 42. Hirotzu C. Beyond analysis of variance techniques: Some applications in clinical trials. *International Statistical Review/Revue Internationale de Statistique*. 1993;183-201.
 43. Yuan K-H and Bentler PM. 5. Three likelihood-based methods for mean and covariance structure analysis with nonnormal missing data. *Sociological methodology*. 2000;30(1):165-200.
 44. Mehrotra DV, Chan IS and Berger RL. A cautionary note on exact unconditional inference for a difference between two independent binomial proportions. *Biometrics*. 2003;59(2):441-450.
 45. Ludbrook J. Analysing 2×2 contingency tables: which test is best? *Clinical and Experimental Pharmacology and Physiology*. 2013;40(3):177-180.
 46. Upton GJ. Fisher's exact test. *Journal of the Royal Statistical Society: Series A (Statistics in Society)*. 1992;155(3):395-402.
 47. Goodman LA. Association models and canonical correlation in the analysis of cross-classifications having ordered categories. *Journal of the American Statistical Association*. 1981;76(374):320-334.
 48. Shahar E and Shahar DJ. Causal diagrams and three pairs of biases. *Epidemiology–current perspectives on research and practice*. 2012:31-62.
 49. Freedman D and Humphreys P. Are there algorithms that discover causal structure? *Synthese*. 1999;121:29-54.
 50. Saghir S, Kamran H, Khalid S, Sohail N and Naveed M. Determinants of Uterine Fibroids Among Married Women Attending Public Hospitals in Lahore, Pakistan. *Asian Journal of Allied Health Sciences (AJAHS)*. 2020:33-37.
 51. Borah BJ, Yao X, Laughlin-Tommaso SK, Heien HC and Stewart EA. Comparative effectiveness of uterine leiomyoma procedures using a large insurance claims database. *Obstetrics and gynecology*. 2017;130(5):1047.
 52. Gao M and Wang H. Frequent milk and soybean consumption are high risks for uterine leiomyoma: A prospective cohort study. *Medicine*. 2018;97(41)
 53. Otify M and Critchley HO. Pathophysiology of Uterine Fibroids. *Modern Management of Uterine Fibroids*. 2020:1.
 54. Tinelli A, Vinciguerra M, Malvasi A, Andjić M, Babović I and Sparić R. Uterine fibroids and diet. *International journal of environmental research and public health*. 2021;18(3):1066.
 55. Tojieva I, Khalimova ZY and Zufarova SA. OBESITY AND UTERINE FIBROIDS. *Art of Medicine International Medical Scientific Journal*. 2021;1(2)
 56. Uzoma O and Ejikem E. Clinico-histopathological patterns of benign gynecological lesions at a tertiary hospital in Eastern Nigeria: a 5 year review. *International*

- Journal of Reproduction, Contraception, Obstetrics and Gynecology*. 2017;6(7):2690-2694.
57. Azzahra M, Gondodiputro S and Amarullah M. Three years data of uterine fibroids patient characteristics at West Java top referral hospital. *Althea Medical Journal*. 2017;4(3):382-388.
 58. AKPENPUUN JR, BAI-TACHIA M and WAROH JN. Awareness, Knowledge and Perceived Attitude Towards Women Living with Fibroid in Benue State, Nigeria.
 59. Ciebiera M, Ali M, Prince L, Jackson-Bey T, Atabiekov I, Zgliczynski S and AL-Hendy A. The evolving role of natural compounds in the medical treatment of uterine fibroids. *Journal of clinical medicine*. 2020;9(5):1479.
 60. Wu B-J, Shao C-Y, Zhu Y, Huang K, Wei W, Zhang X, Hu C and Zhong F. Effects of menarche, parity, primiparous age, and reproductive diseases on uterine fibroids of rural women in China. 2020;
 61. Arisukwu OC, Nwogu J and Asamu F. Prevalence and preventive measures for fibroid among Celibate-women in South-Western, Nigeria. *The Journal of Social Sciences Researc*. 2019;5(3):2413-6670.
 62. Millien C, Manzi A, Katz AM, Gilbert H, Smith Fawzi MC, Farmer PE and Mukherjee J. Assessing burden, risk factors, and perceived impact of uterine fibroids on women's lives in rural Haiti: implications for advancing a health equity agenda, a mixed methods study. *International journal for equity in health*. 2021;20:1-17.
 63. Ikechebelu JI, Okpala BC, Eleje GU, Nwachukwu CE, Nwajiaku LA and Nnoruka M. Delayed presentation of giant uterine fibroids in a Nigerian private specialist health facility. *SAGE Open Medical Case Reports*. 2021;9:2050313X211063137.
 64. Riggan KA, Stewart EA, Balls-Berry JE, Venable S and Allyse MA. Patient Recommendations for Shared Decision-Making in Uterine Fibroid Treatment Decisions. *Journal of Patient Experience*. 2021/01/01 2021;8:23743735211049655. doi:10.1177/23743735211049655
 65. Singh V, Shinde S and Shinde N. Dilemma in diagnosis of giant uterine fibroid: Case Report. *International Journal*. 2021;4(2):633.
 66. Naz F, Memon S, Bai G, Habib A and Maheshwari M. Outcome of Uterine Leiomyoma in young Female Population. *Journal of The Society of Obstetricians and Gynaecologists of Pakistan*. 2021;11(2)
 67. Swain D, Yadav C, Kumari J, Rani M, Rongmei PD and Khurana SK. Predictors and symptomatic burden of uterine fibroids among women in South-Eastern India: a cross-sectional survey analysis. *International Journal of Reproduction, Contraception, Obstetrics and Gynecology*. 2019;8(2):525.
 68. Salas A, López J, Reyes R, Evora C, Montes de Oca F, Baez D, Delgado, A and Almeida TA. Organotypic culture as a research and preclinical model to study uterine leiomyomas. *Scientific Reports*. 2020/03/23 2020;10(1):5212. doi:10.1038/s41598-020-62158-w
 69. Tayebi N, Izaddost N and Akbarzadeh M. Relationship between Android obesity and menstrual disorders in different ages of the menarche. 2020;
 70. Sangeetha N, Sivakumar K, Arulmani A, Kannan A and Choudhary AK. Menstrual problems among adolescent schoolgirls in East Delhi, India. 2021;
 71. Tayebi N, Izaddost N and Akbarzadeh M. Relationship Between Android Obesity and Menstrual Disorders in Different Ages of the Menarche. *Crescent Journal of Medical and Biological Sciences*. 2020;7(4):568-572.
 72. Chiumente M, De Rosa M, Messori A and Proli EM. Burden of uterine fibroids in Italy: epidemiology, treatment outcomes, and consumption of health care resources in more than 5,000 women. *ClinicoEconomics and Outcomes Research*. 2017:525-535.
 73. Xie Y, Gao Y, Liu W, Zou Y and Li C. Determination of soluble HLA-G serum levels in patients with adenomyosis and uterine fibroids before and after surgery. *Human Immunology*. 2023;84(8):418-422.
 74. Laughlin-Tommaso SK, Lu D, Thomas L, Diamond MP, Wallace K, Wegienka G, Vines A, Anchan RM, Wang T, Maxwell GL, Jacoby V, Marsh EE, Spies JB, Nicholson WK, Stewart EA and Myers ER. Short-term quality of life after myomectomy for uterine fibroids from the COMPARE-UF Fibroid Registry. *American journal of obstetrics and gynecology*. 2020;222(4):345. e1-345. e22.
 75. Allred H and Pyrak C. Are uterine leiomyomas a risk factor for spontaneous abortion? *Evidence-Based Practice*. 2020;23(12):37-38.
 76. Harmon QE. The burden of uterine fibroids: a search for primary and secondary prevention. *Fertility and sterility*. 2019;111(1):50-51.
 77. Soliman AM, Margolis MK, Castelli-Haley J, Fuldeore MJ, Owens CD and Coyne KS. Impact of uterine fibroid symptoms on health-related quality of life of US women: evidence from a cross-sectional survey. *Current medical research and opinion*. 2017;33(11):1971-1978.
 78. Egbe TO, Badjang TG, Tchounzou R, Egbe E-N and Ngowe MN. Uterine fibroids in pregnancy: prevalence, clinical presentation, associated factors and outcomes at the Limbe and Buea Regional Hospitals, Cameroon: a cross-sectional study. *BMC research notes*. 2018;11:1-6.
 79. Tran AP, Al Naber J, Tambor ES, and Myers ER. Addressing heterogenous outcomes in uterine fibroid research: a call to action. *American journal of obstetrics and gynecology*. 2020;223(1):75. e1-75. e5.
 80. Fortin C, Flyckt R and Falcone T. Alternatives to hysterectomy: the burden of fibroids and the quality of life. *Best practice & research Clinical obstetrics & gynaecology*. 2018;46:31-42.